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RIS SI]

D’i

o N

Lﬁﬁﬁﬁﬁhﬂﬂfﬂﬁ
1/ MIACURIHAT 81 AMRGTTHHY
iSiimancumagRTHm R8N ry
GG GaRIINNS A
d=R(R-2r) “ (IMO 1962 )

2/ ASH{RUGS SHRGYMNA nINWRUEAN
ISt AU IS oSN
n°—10n-— 22' “1 (IMO 1968)
3/a 81 b thigsie , Ginsasdm

X +ax® +bx? + ax+1= 0 BSUfuting
AGYWNMGSSH

GIRSHMEGEURIS UGS a* + b 9

(IMO 1973)




RIS SI]

4/fiSH f(X) =1—acosx—bsinx—Acos2x—Bsin2x
ia,b, A, BMGgSNnHS: 4
UKt f(x) >0 GINSHD x
Ui &’ +b*<2 W A*+B°<1 9
(MO 1977)
5/ (Mo 1977) THB] a 84 b SFSHENFINS
RN a” + b? IGF8Y a+b IRMSH
i6f g SHEOANNS r 9
ASH{EUY (a,b) ENWHNG g +r =1977
6/m 81 n MEFSHENZNSIHU m<n
OIS GRMWUHRUINSIH OIS 1978"
ﬁuﬁ@§ﬁﬁiﬂj8qlﬂi[,ﬁ’ltiﬁ8 1978" 4
ASH m 81 n ENWERM m+n NSHY
fjﬁfiﬁﬁ “ (IMO 1977)




RIS SI]

7/ BRIFIMAN ABC NS AB=AC
itgt&'tgmﬁ:mﬁgaiméa@&m‘fﬁiﬁi’sﬁ
IMANABC twigidl AB 81 AC
ghamisd P 81 Q Whm 4
PWHGANGHAMMUS PQ At
SURRRIS{RIMAN ABC 9

| (MO 1978)
8/P MGSGISIHUHIMAN ABC 1
D, E,F mitistmmasinnis p ighd
USIH BC, CA, AB {HE 4
GINSHFUGSG P iNWHHG

BC [ CAAB HSHGHUUI
PD " PE © PF

(IMO1981)




o/P GSGYUNSIHRFHMAN ABC
PA M BC {fid D, PB M AC {fif E

811 PC M AB i F 9
gunmaunicmeyis o 50 P
PD'PE’PF
MSHYHGHY 2 81 thfousyuns
AP BP CP
PD PE PF

MSHiyHhd 2 9

(MO 1961)
10/ GIRSHFUHSHYS f(x) HronNSgSe
igleonnGg s
BNWEAR F(FO0+y) = 2x+F(F(y)—x)
BN RUGSSHN x;y

(IMO Shortlist 2002)




SIRIRISTRBTASSR

11/ GANG M gt ed i autSTinsin
AC IS{AIMAN ABC , IiNtaNRM |
MISiAmIAf{HiIman ABM §i
BMC F8JE |

GIvMMmm BM2=X.Cot§ 1L

fiiry x thipgpigisiitman ABC

(IMO Longlists 1988)

12/ 18G] x,y,z thiGgsinigms
By xyz =1 GIvMM/

X3 y3 23 §
(1+y)(1+z) (1+z)(1+x) 1+x)1+y) 4

S C"

( IMO Shortlist 1998 )




13/ 15G] x,y, z thUGZSARIGMS 9
GIUNM,

X y Z 2(X+Yy+2)
(1+yj(1+z)(l+x)22+ 3\/XT’Z

( APMO 1998 )
14/ AANSIB YR DRI

tan~ tan . tan_- tan
S = 8, 16, 32, .+ 2
(L T T T
COS~ COS_  COS. - COS
4 8 16 2™

JIGOMIANGERTS S, MATAM n— +o
15/ 15 Gj a 811 b NAIGSSARIGHNS
IHANHGESS a I6AS8H 5 GjaISNy 2
IIGSS b [GASN5 GjAISAT 4
A/GIVINMTGSS a*+b’ mﬁmﬁéh 5
2/ NSGISHAIGMS ¢ U c=a*+b°
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AIRIRISRIT S

N

GHAMANMUISIHIGAMNGSS c 81 s
B/ hulguIngumt ¢ [GRsi s
GjEUSIU 6 °1

I ¢ IGASH 40 GEISAIGNS 2
GINSHGSS c IUAdnT

11066 <c< 11119 7]

16/ GIMS{AU neIN 811 ac ZIAG|GSS
E =a"—(a—720)" - (a+ 737)" + (a+ 2027)"
GIPIWH E, IGANGEY 2010
GEMS{ATU nelN

17/ IRG[JEGSSAE (u,) ASHGIM:
(AU heIn BN U, =3 BnésAésn
Arns U, ﬂi;gjz;tn

AANSIGU, JGAANSI U, ?

2010




ago
=)
A
QD

" 14 (1-+2)a,
GIUMMm (a)mﬁJHZUn[’LI‘IS‘In a, .

X+ 9X+6
3X*+6X+7

GIHANSY f (x)=fofofo...of(X)

(n)

20/ IHGjHSAYS f(x):(ﬁ—l)*+(£+1)x

19/ IRGJHS By S f(x)_

2 2
fi/ GIBINMAN{FU xe IR IHHS
f(2x)=f'(x)-2

o/ AN A=(ﬁ2‘1j +(

2
B/ BN SO FUE M f(x)=5 1

x@+1)8 q




o,

AIRIRISIT S

21/ Iﬁﬁjﬁslﬁﬁé f(X)=(2-+/3)"+(2++/3)
A/ GIBINMAN{ED xe IR IAENS
f(3x)=f3*(x)-3f(x) 7]

2/ BN A=(2-v3)"+(2++3) 1

B/ BN ST U S A (=14 1
W/GIINMM™ f0>2 (U xe IR,

22/ [fiGja, b ,c NOGSSARIGHENS

GIUEN M

1 1 1 1
+ + <
a’+b’+abc b’+c’+abc a’+c’+abc abc

(USA MO 1998 )
23/ IhBja>1 S x>y>z>1 9

GO log, ( )og, () < [Iogaz (ﬂ




/-

IEIBEREY

Q

C
N

55359

24/ IR G] P(x) thNNMTIFFEIS «
IHORT Po-a IGAMNGSH (x—a)
IS P)+a IGAENGEY (x+a)
BHrUAnGIS: axo 811 2 thGgSia 9
g:ﬁs%sﬁnﬁ]m P(x) IRGISS ?

25/ ITABJAUINET P(x) = (x* - 3x+1)""
A/NWESNGARAGIASHINS
IHEANYSEH X IUATNUIM P(x) ]
SARMEIANNTAMITGHA Poo 811 x2-5x+6
A/IABI G AT P(X) = cg + X+ CoX° + ...+ Coppx°
AANSY A=cy+Cy+Cy+...+Cyy

B=Cy+C3+Cg+...4+Cqgg

26/ IRG] Pe MAUIMY T 1
RN PeoIGASH -1 GjRIANNS 2
IS P EGASH (x-2) GjRIANNT 3

- 10 -
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D’i
D’i
D'l

A/ GHARTANSISTGEIGA P 81
*-3x+2 ]

2/ IHEUSAM PR thNNMBIFFYS
I8 x [HpU P—2)=—1

P(-1)=-7 , P(0)=5 ] giﬁsﬁ P(x)

B/ BN PO AUB ™I Poo)=x+1 T

27/ ITREjNUIm P(x) =ax’ + bx® +1

fiins a 84 b thiiGgshnttnuiae) 9
GIfiSH a IRH]G] Pv IGAMGEY
x*=3x+1

28/ IABJATINET P(x)=x" +bx® +42x+8
PHOU nein 881 b tNARTENUIEG]
GIAiSH n 811 bIAH]G] P IGAMGER

X° —6x+8 ]

-11 -
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29/ IR SHEAH SIS ¢ ASANAIAN
IN l?’lffiff{‘l IR FEN S £(0)=0
813 f(n+1)=2f(n)+tan2L GIRSHIA f(n) ?

2

30/ InﬁJﬁinUSSﬂn (y.) ASHlt

31/fBj ac IR ,0<a<1 W f
TNHSAEYSMUIT [0;1] LW
X+y) (1-a)f(x) +af(y)

fﬁm:l,ﬁﬁ x;ye[0,1] 8% x<y "ltjiﬁSﬁ f(?)

(IMO Longlist 1989)

F(0)=0: f(1)=1 S8 f(e-2

- 12 -
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32/ wfja, b ,c thiigalgmaiam ab + bc+ca=3

HIUINA)
1 1 1 1
<

1+a’(b+c) 1+b’(c+a) 1+c(a+b)  abc
33/ IHUIf A, B,c NYVIS{AIMAN ABC

MNHSAYS yocotas  2SNA
! cosA+cos(B-C)

i“““ﬁﬁﬁjimi3ﬁ3ﬁ8§t3° ?
4/ HR{HIMAN ABCYLWHISIBHNS
ISLﬁh AB 811 AC fmiam

giﬁﬁnmm cotB+cotC2§ ‘]

(CMO 1993)
35/ 5G] a;b;c (NUGSSAAIHHIS 7

2
Giﬁmmfﬂ a’ +1 b +1+c +1 513

b+ c c+a a+b
(Regional Mathematical Olympiad-India 2006)

- 13-



36/ FURHAWINUIM x"+a, X" +..+ax+a,

n-1

5
3
=
D3-
=

AR (X+1)(X+1)..(X+T1,)
Bieur,,r,,...r, NGSSAR 9
GIUINM™M (n-1)a; ; >2na,_,

n-1=
(Costa Rican Math Olympiad 2009)
37/ 918 x 811 y thAIGSSARIGEMS

‘fﬁmtgﬂhtpéi 1+ x)1+y)=2
GIUINMN xy+— 26 )
Xy

(Costa Rican Math Olympiad 2009)

38/ 1A STGSSARIGENS a,b,c

as b® ¢°
GiIUMNMMM — +—+ - >a+b+c
v = bc ca ab

- 14 -
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AIRIRISIT S

39/ IREISAJH (x,) ASHIN x, =x, =1 81
GINSHU n>1 B8 x_, = % T

X

n-1

130U k GSSHS S k>2 4
GILNMD (x,) NEJMSSSSHE 2
A0THUWAGSE K ; LM I Rensiing
ilid BC; CA; AB 1
g%ugwmmuhhﬁﬁmsgm’fsﬁtmnn

AML, BKM CLK #18I§{figngathi

yiad + Islg{annifiman ABC 4

N

(IMO 1966)

- 15 -
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idndiamegss
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FBEMHE

AIAGTAEIT 8 MRNGIREY
SFmANAEMEEENE REY re
G GHIHAGERANRS:A
d=R(R-2r)

(IMO 1962)

5T SR
W GHNRGERAATSH

d=/R(R-2r)

Wi AABC HUINU AB=AC

o 81 1 hisisiydoimi Si ;innh
ISifiimeN ABC 9 |
W EHBAIYIMNANAT AD IS{RIMAN

- 17 -



AIRIRISTRT S5

ywshnAcuHAlHimLn 84 m th
Ginmeuimiais 1 0 Ac 4
A

B\yc

il o=~z DAC NS ZDOC =2«

guiimaniai AM IBmS sina="1

i IM=r IA=10+0OA=d+R

- 18 -
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AIRIRISIT S

A sina=——

d+R
guiimanifii obcIAMS cos2a= 02

N OC=R,0D=01+ID=d+r
RSLT] cosZa=% y

MUSNHESHY cos2a=1-2sin’a
d+r 2r°

RIS =  (d+R)?

U (d+r)d+R)?=R(d+R)*-2r’R
[(d+r+R)-R](d+R)*-~R(d+R)*+2r’R=0
(d+r+R)(d+R)°-2R(d+R)°+2r’‘R=0
(d+r+R)(d+R)’=2R[(d+R)*-=r?]=0
(d+r+R)|(d+R)’—2R(+R-r)]=0
(d+r+R)[d°-R(R-2r)]=0

W O1<OA 181 d=—(r + R)

HUIS: d=r(R-2r) I

- 19 -
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AIRIRISIT S

M Al

ASH{RUGSSHARGYMNA n ENWRHAN
SO s B IS b
n°—10n-— 22' “1

(IMO 1968)

SRR

ZUNRIGIS N 18 m > 1 1ISH
n=aa ,..aa, idlil<a <9

S 0<a ,,..a,a <9

MutnUa x...xa,xa =n’—10n—22 (1)
iiNta x..xa xa <a .9"'<a .10™"
it n=a_.10""+a_.a_..aa,

m-1_—"m-2"

iHAMNn>a 10" >a_x...xa,xa, (2)

- 20 -



nﬂﬂnﬁ ﬁfil’l

MUGNHFSH (1) 81 (2) WNMMS
n>n’-10n-22 ,

Un-11n-22<0 (i)

it a x...xa xa =0

iI1: n°=10n-22>0 (ii)

mu (i) 84 (i) immnsnglaudms
n“—-11n-22<0 (i)

{nz —10n—-22>0 (i)

N RNDUNSISIHMS N =12

- 21 -
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AIRIRISIT S

Q

GMESM

a 81 b thgse , Sinsaudmi

X +ax® +bx? + ax+1= 0 BSufuting
AGYWNMGSSH
GIRSHMEGEURIS UGS a* + b 9

(IMO 1973)

zeo

ST S{FOIS
AsHmynoURMtumGis a’ + b’
IS x'+ax’+bx*+ax+1=0
GiM: x =0 1912 1=0 88K
HBISIBMIMSUAI X =019 9

IGAHNFMNRSBMISH X = 0 1HMS

a 1
X*+ax+b+-+—-=0
X X

-22 -



SRR ST

U (x+1)2+a(x+1)+b—2=0
X X

ﬁmy=x+1
X
|y||x+—|—|X|+1 2|x|
X |X] | X|
NS EIBMI

y'+ay+b-2=0
Uay+b=2-y°
MUIIEMA Cauchy-Schwartz

(ay +b)’ < (y’ +1)(a* +b?)
oo e s (YD) (2-y)

y'+1 y'+1
I'Tltilg(y)—(2 y) =y +1+ ) —6
y'+1 y'+1

_lgy _2y((y'+1)°-9)
IS U=y = = i+

-23 -



nﬂﬂnﬁ ﬁfil’l

Ug'(y)= 2y(yzy—2 ?8’ 9

GiN: y > 2112 g'(y) > 0
e g(y) MHSHESIARSGIM: y > 2
HOIS: a’ +b” =g(y)=9(2)
(2-4)? 4
O g(2) = =
MW e)="0 1 =5

OIS, ﬁiﬁﬁﬁﬁﬁﬁis a’+b*n

Cﬂl e

- 24 -
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AIRIRISIT S

BumAse

iHASH f(X) =1—acosx—bsinx—Acos2x—Bsin2x
ia,b, A, BMSgshinisi 9

FUSHt f(x) >0 GIN:HD X

UMM & +b* <2 WA’ +B°<1 9

(MO 1977)

BRI
uinm a’ +b’ <2 S A°+B* <1

f(x)=1-—acosx—bsinx— Acos2x — Bsin 2x
IS acosx+bsinx=rcos(x—a.)

; a_ . b

M r=+a’+b*; cosa==;sinx=—
r r

Ut Acos2x + Bsin 2x = R cos(2x — 2B)

iU R = VA® + B’ ;cosZB=§ ; sin2[3=g

- 25 -
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AIRIRISIT S

WROIS f(X) =1-rcos(x—a)— Rcos(2x - 2B)
GBI x =7+ P IHMS
f(m+p)=1+rcos(p—a)—R

-BiN: X =P IHMS
f(B)=1-rcos(B—a)—R

i f(mn+p)+f(B)=2-2R =0

I RSIUJVA*+B <1= A*+B*<1

Gm: x=a+g 1S

flo+ " )=1— N2 R sin(20, — 2B)
4 2

Gimns x=a—g IS

f(a+g)=1— r.f+ Rsin(2a — 2B)

AT f(a+g)+f(a—g) —2-J2r>0

WO r<J2=a’+b’<2

- 206 -



RIS SI]

sBumHE T

1G] a 81 b MGSSHNZNS
TREUTEEU a2 + b? IGA8Y a+ b IHMSH
i6f g SHESANMS 1

ASH{EUG (a,b) ENWIHND g +r=1977

(MO 1977)

zeo

ST S{FOIS
RSH{HUE (a,b)

a’+b°=(a+b)q+r
q°+r=1977

MBIEIEMA Cauchy-Schwartz 15t S
(a+b)’

MuUNU {

2@°+b*)>(a+b)’Ua’+b’>

HOUN (a+b)g+r> TP g5 q»ath

2 = 2

- 27 -
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AIRIRISIT S

N 0<r<a+b 181 r<2q

16 g% +r=1977 1912 1977 < 29+ °

U (q+1)°>1978=q+1>451Uq=>44
I r>01912 g> =1977 —r <1977
RN q <44

HGI8s =44 W r=1977 442 =41
IHNSAIBMI a2 + b’ = 44(a+b) + 41

U (a—22)" + (b —22)* =1009

Wit x=|a—22>0 S8 y=|b-22[>0
i1 x> +y*=1009 4

BN MIISSS SHNtSIUSGRIML
{0,1,4,5,6,9}4

SOUURMIT X2 + y* B SUSGRIMLIIIN9

- 28 -



RIS SI]

IS (2, y?) BNSTUSGRIMIL
{(0,9);(9,0);(4,5);(5,4)} 1

MYaIBMI x? +y? = 1009 wDRASHMBM
il (a,b) MGIBUAN: (b,a) HNGIGW
NHIS I GROANERIANGSSS x ]S
IISHAMLT {0, 5 }

UIWENW y2 >0 1812 0< x* <1009
U0<x<31 9
itN&iSixe{0,10,20,30,5,15, 25 }.
Wy e IN* 81 y> =1009-x* 19161y
x WBINMUESnMS: st

x=15 8 y=28 U x=28,y=15 9
N x =|a—22| 88 y =|b - 22|

RS (a,b) e {(7,50); (37,50); (50,7); (50,37)} I

- 29 -



RIS SI]

umH§

m &1 n MSgSHEMNZMSIHU m<n
OIS HIMWERUNSIT TS 1978
@G@éﬁﬁimaq}mmm’is 1978"

ASH m 84 n ENWERR m+n NSHY
RGO

(IMO 1978)

zeo

SPUTS RIS
fiS8 m 8% n
N m < n I HRMNGHUEGT

1978" —1978" =1978"(1978™" —1)
it Siuesimis1978m SomEH
OIS GRIMNS 1978 191:1978" —1978"

- 30 -
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IRGAENGEY 1000=8x125=2°x5°
598 1978"(1978"" — 1) IGANGEN 1000
RIS 1978" IGRIMGEN 2° i
1978"" — 1 IGRMGEN 5°

1978" IGHNGEY 2° AP m>3 9
Yiig]H 1978=103=-22 (mod125)
1912 1978 = 22° =6 (Mo125)

IR 1978 =6° (mod125)

i pelIN* 9

TN 6" = (1+5)° = X, (C*5+)

kO

=C . +C 5+C5 +5C +..C°5"
BN 6" =1+ 5p + 25 p(p2— D (mod125)

U 1978 =1+ 5p+ 25. p(pz" ) (mod125)

-31-
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19787 — 1= SP(SS ~3) (mod125)
indie) 1978 —1 iGnMMGEN 125

ngsEEis p(5p2" 3) {nmba 25

{ENtis 5p — 3 BSMNGIGAIMNMGSH 5
WNHISIREIG] p IGAMNGEN 25

WS p=25q , VgqelIN*

IR 1978 —1=0 (mod125)

fN5IS: 1978 — 1 IGAMGEN 5° Agepnie
Nn—m=100g ,VgelIN™*

W M>3i18 n+m=(n-m)+2m

U n+m=>100qg+6=106
BOISEYHUJUILIS n+m & 106

v
D

I RUiShEY m=3 81 n=103 4

-32-
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AIRIRISIT S

soumH§H

ARRIMLN ABC GHS AB= AC
i%;t'sigmﬁ:mgaim%@ﬁm‘fﬁmisﬁ
IMANABC itDTiigidh AB &4 AC
ghmisd P 81 Q Whm 4

P GANGRNARS PQ Al
GuRgRIsEImAN ABC 4

(IMO 1978)

HSRMS RIS

W GANGRMATS PQ AMhemH
SinRRRiS{RImAN ABC

Ml E thESGRAMMUIS PQ 841 D
UG AE SWRNIGIMFTAABC

-33-



itHutNe ZABD = 90° ( §ONRANGRIN)
{HCNS ZPBD + ZPED = 180°
Gi8s BPED MGHIMANGURGHINNS

HUGGE DP 4 1HMS
ZPDQ

/PBE = ZPDE = (BONRAGIY PE)

- 34 -



RIS SI]

Hﬁﬁigjﬁ AP thuditi: Syt AB

{fif P IQIHMS ZAPQ = ZPDQ = ZABC

WA £LPBE = ZAZBC S1[§j BEMNfiS:

UIHN:[RIST ZABC

Nt E ﬁlﬁmgiﬂaﬁgzﬁgwﬁnga BE
S AD 188 B 84 ZA Qms:ﬂémjﬁ
pRoIRgRisiman ABC

- 35-



FBEMHEE

P MGSGISIHURIMAN ABC

D, E,F ciflisSinmasiniis p ighd
USIH BC, CA, AB {HE 4

GINSHFUGSG P iNWHHG
BC CA_AB

5] Sﬁiﬁi—iﬁjﬁiﬁ”l N

PD " PE " PF

(IMO1981)

- 36 -



Mg Asin

i S MNFIGMBISRIMAN ABC

g8 S= Sch + SPCA + SPAB

S =%PD.BC+%PE.CA+%PF.AB

U PD.BC + PE.CA + PF.AB = 2S
MUIEIEMA Cauchy-Schwartz

2

(a,+a, +a, )b, +b, +b )>(ab +ab, +ab,)
F

[ﬁﬁa — B_C’ a2= C_A a3= _B
\' PD PE \ PF
S b, = /BC.PD , b, =/CA.PE, b = VAB.P

OIS

(BC CA AB

PD T PE " PF
U|3c: CA , AB_ (BC+CA+ABY

+
D" PE " PF 25

muHUuIES Do 4 S8, AB
PD " PE ' PF

)28>(BC+CA+AB)

(*)

_37-



nﬂﬂnﬁ ﬁfm

g (BC+CA+AB) Ui Sialeuumi )

a a

MW EmMAim E'Uﬁ

'BC /CA /
rowgry  \PD__ \PE PF

JBCPD <CAPE -/AB.PF

: = : = : < PD=PE=PF
~“PD PE PF
HGIS: BC CA AB i:i“lSﬁi‘i:ﬁ-iﬁjﬁiH‘l
PD PE PF

NSIHMAANSSG P FRRReIRGINS
{RIMAN ABC
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FBENHEE
P GSGHUNSIHIHIMAN ABC

1 <
1

PA M BC {fil D, PB M AC il E

81 PC M& AB it F

gunmatneicmeywis o 50 P
L PD’'PE’PF

MSHYHGHY 2 8 Uhhficmsyis
AP BP CP

HNSHIYHNH 2 4

PD'PE'PF
(MO 1961)
SRR N
MILENED
E
F

-39 -



SIRIRISTRBTASSR

M A" 88 P hGIMUiRais A 83 P
O[8 BC

SR U NIGRIman PBC 81 ABC
25, PP’
SABC AAI

{MANIA PP D 8 AA'D
18 /DPP'= ZDAA" (B{fifN )
RIMANGGE

_PD
AA" AD

iU'IﬁiS" _PD_ PD 1

1
S~ AD AP+PD_ ‘. ap 1
PD

iﬁmSﬁﬂjii?ﬂUuﬂﬂG

ABC

FENUHGIEIRMS
1 S
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URGRESH (1);(2);(3) HMS
1 1 1
1+AP 1+BP 1+CP
PD PE PF
AP BP CP
PD PE PF
T P S S|

14X 14y 1+z
UDUSHENWS x , vy, z INRGHSYW

HOMN 2 S8 UNNRGHSHGERII 2 4

QU x>2 S y>2

IROIS L + L 314_}:3
1+4x 1+y 3 3 3

L L + L =1 INAROIS

_|_
1+x 1+y 1+z

1—is3:>zs2 1

1=

il

iy

NGIS:x .y, z UNIRGHISYIGGINN 2
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Nt + + =1 ININHMS
1+x 1+y 14z

1—izg:>222 1

NGiS:x .y, z WIIRGHSHIGERI 2 9

TSR GAI§ S UNURGISHUNS

AP BP Cpmsmﬁﬁm‘na 2 84 ifiG
PD'PE ' PF

i:ﬂSijLﬁiS AP BP CP EﬂSﬁﬁ:iﬁmﬁ 2
PD ' PE PF

- 42 -



Q

m5§90

GIRSAIPUHSHAYS f(x) NnNGgLNs
igleonnGg SN

FNUERAR £(F () +y) = 2x+F(F(y) - X)
GIN:REUGSSH x;y

(IMO Shortlist 2002)

BRI

N m =f(0)

WIS 1(f()+y)=2x+1(f(y)-x) (1)
HgA x=0 G (1) IS
f(m+y)=£(f(y)) (2)

MG x=f(y)GW (1) IHDS
flf(f(y)+yl=2f(y)+m (3)

- 43 -



SIRIRISTRBTASSR

Wif (2) Ejlﬁjﬁ_?ﬂ(S) IS
f(f(m+y)+y)=2f(y)+m

IS y = —m BN F(F(0)—m) = 2f(—=m)+m
TN f0)=m

iI8le m=2f(-m)+m=f(-m)=0

LY x = -m RSEURHY (1) IHMS
£(f(=m)+y)=—2m+f(f(y)+m)
f(y) = —2m +f(f(y)+m)
F(y)+m=m-+FF(y)+m)

W x=Ff(y)+m

1912 x = m+f(x) = F(x) = x+¢ I ¢ = —m
HEISS f(x) = x+c [AUGSSHAN
SGS8IGice IR
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AIRIRISIT S

Q

MH5§99

GANG M Yot euliautSTino{in Ac
IS{AIMAN ABC , fintisidiath |
mMisiiniagh{iiman ABM §i
BMC FEJE |

GIvnmm BM2=X.cot§ i
fiiru x thifgnigis{fitmann ABC

(IMO Longlists 1988)

SRR

vnmm BI\/I2=X.cot%
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fiti BC=a;AC=b;AB=c

B p=210C mag:uTngn

153 1; 0,;0, ESHNGIM{FIRIMAN
ABC ;: ABM : BMC fUltif J, P, Q
NEINMIIKRIS 10,0, 6 AC

MR =r 81 0,P=0,Q=r, MM
GURAHIRIMAN ABC ; ABM ; BMC
iifl[ij'pl :p, NAGUTHNRHTHIAMALN
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AIRIRISIT S

ABM:BMC “]
RS S, =S, +S_

r P
m pr plrl + erl 2 r pl + p2

IABIS

(AB+ AM +BM)+ (BM+MC +BC)

2
AB+BC+ AC+2BM

4+ =
pl p2 2
a+b+c+2BM

wmeun =P
~r p+BM

MmN Aop 81 A3 B{RIMAMIEH

o nems AP OUP '; (2)

{MAN co,Q Sﬂ C13 B{RIMANTHY

CQ_0Q_r,
uGﬁ’I"l IS =1 (3)

P, +P, =

=p+BM

- 47 -



SIRIRISTRBTASSR

MY (2) 8 ) mme Lo AP 9

r Al CJ
i
AP=p, -BM ;AJ=p-a;
CQ=p,-BM;Cl=p-c
IRONS
rr p,—BM p,-

1

F p-—a - D—cC
_p1+p2_zBM _p—BM
~ 2p-(a+c) b
Y (1) 8% (4) WOMmMS
p p-BM
p+BM b
S16] pb=p’ - BM" = BM" =p(p - b)

MBJUE I

SABC =X= \/p(p o a)(p o b)(p o C)

SHIULS tan > = \/ (p—-a)(p—Cc)
T2 p(p—b)

(4)
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5ITIRIS ﬁff,ﬂ

D'l

M? =p(p-b)
p(p—b)
Jp(p-a)(p-b)(p-c) \/(p—a)(p—c)
|3hﬂ2==>(“_;£E§::)LCOt%;
tan

HGIS: BM’ =X.cot% ]
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BunHsol

IHGj x,y,z U
xyz = 1,5I0MNMm

X + y +
1+y)1+2z) (QA+2)1+x) (1+x)(1+y)

Clo
J4A
an
30
s
anp
St
T
[4A)
o0
C
c

3 3

( IMO Shortlist 1998 )

5T SR
UMt

XS + y3 + ZS
1+y)1+z) (1+2)1+x) (@A+x)(1+y)
MUTEUEMN AM-GM (TN S

X +1+y+1+223x (1)
(1+y)(1+z) 8 8 4

y +1+z+1+x23y (2)
(1+z)1+x) 8 8 4

53
A4

3

3

3

Z +1+x+1+y232 (3)
1+x)(1+y) 8 8 4

- 50 -



grAisusmn (1), (2) 84 (3)
HRSUHPIAMS
2 X3 y3 ZS

T A+y)(1+2) A+ 2)A+x) T (1t x)(1+y)
ZZ2(x+y4+z)—3
NS x+y+2233xyz=3 I{fN: xyz=1

HGISS

X N y N Z’ .3
1+y)1+2) (QA+2)A+x) QA+x)(1+y) 4
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X y Z 2(X+Y+2)
1+— | 1+=|[1+—|=2
+YJ( +Z)( +X) i VXyZ

( APMO 1998 )

SRR
U

X\(4 .Y z 2(X+Y +2)
(1+y)(1+z)(1+x)22+ Txyz
[T S
(1+X)(1+y)(1+z)=2+(x+y+Zj+(x+z+yj (i)

y z X y z x) \z y X

MUBTEUUMN AM—GM [HHS

X X X? 3x
—+—+X233

y Yy Z yzzi/xyz
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2X y_ 3X
Zid> 1
2y W()
PG THIETN S
2y+5233 (2) 81 §+§2332 (3)
X 3Xyz X Yy XyZ

XY 2y X 2, Yy AXHY+2)
(y+Z+X)+(Z+y+X)2 rve (i)
MBGAFLA () 81 ) IHNMMS

X y Z 2(X+y+12)
(1+yj(l+z)(l+x)22+ 3\/XT’Z ;
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migm st

D'l

/
5umH§as
AANSEYANDIMY
tan~ tan_ - tan_. tan -
S, = 8, 16, 2, 4+ 27
T T T T
COS— COS— COS— COS
4 8 1 2

JGOMIASEES S, MM n— +o
HSTM RIS
AANSIE GRS,

tan® tan. tan_. tan
S = 8, 16, B2y
T T /I /I
COS— COS— COS—— CoS _
4 8 16 2™
n tan 2k+2
S =
" kz=l TC
COS 2k+1
2tanx

AIgiuye S tan2x =
¢ f 1—tan’x

- 54 -



S )

BIRIHIS TN SR
IAG1S
tan2x—-tanx = 2tan>2< —tanx
1-tan” x
_ tanx+tan® x
1-tan’Xx
tan2x—tanx=tanx.1+tan2X
1—-tan® X
fxglig) c032x=1_tan2X K
1+ tan” X
tan2x —tanx = tanx (*)
COS2X
NI PO T AU x = 222 GEUnn () IAMS
T TT tan k+2
tan 2k+1 _tan 2k+2 _ 27[:
COS
2k+1
UATS
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S )

BIRIHIS TN SR
=(tann—tann)+(tann—tann)+...+(tan nl—tan nz)
4 8 8 16 2" 2"

—tan” —tan—~
4

n+2

—1—tan-~

n+2

HGISS S, =1-tan_

n+2

I

HINIG)RIAMIS limtan -, =0

N—>+00 2”"‘2 -

HGIS: lims, =1

n—+oo
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A/GIUINMMGSS a2 +b? IGAINGSN 5
2/ HISGYSAMGEIS ¢ [iifU c=a*+b°
GinasANISIRIGAMNGSS c S s
f/ thulguIngumt ¢ [GRsi s
GjEUSIU 6 °1

1 ¢ IGA 8N 40 GjRISITNS ?
GIHSHGSS ¢ Imanm

11066<c< 11119 7]
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AIRIRISIT S

HSRMS RIS

A/UINMMNGSS a*+b IGAINGSN 5
MutNUIATNGSS a IoAdi 5
GjRTSNS 2 IGSS b

fGRSis Gjaisns 4 1:Ggs a
BH1SNN a=5q, +2

G SS b H18N1 b=5q,+4 [y

d,.d, € IN,

(518N 8
a’+b*=(5q,+2)" +(5q, +4)°
= 25q," +20q, + 4+ 25q," +40q, + 16

= 25q,” +25q," + 20q, + 40q, + 20
=5(5q," +50, +4q, +8q, +4)
B4 g=50," +5q," +4q, +8q, + 4
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=(50, +2)° +(50, +4)’
=125q," +150q,” +60q, +8+125q,” +300q,” + 240q, + 64
=5(25q," +25q, +30q,” +60q,” +12q, +48q, +14) +2

PN g, =250, +25q,”+30," +60q,” +120, +48q, +14
[0S c=5q,+2 S1G] c [GASH 5
GJEUSIU 2 °1
5/ 15 C I6rsH 40 GjrISAIGS ?
ENtSCIGASH 8 GJEISAY 6 S1G{ENS
g, cIN FiEPU c=8q,+6

v C=195q, +2
IROIS{UNS 3
AUIST “{c=8q4+6
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nﬂﬂnﬁ ﬁfil’l

D'l

i§ 16c=80q,+32 (i)
= 115¢ =120q, + 90 (ii)

HEEIOMI ()& i) TS

c=80q, —120q, — 58

U ¢=40(29, -39, —2) + 22

M q=2q9,-3q9, -2

INGNS c=40g+22 iU gelN
HGIS: C IGASi 40 GjRISNAT 22
ASHGSS C ITIAD M 11066 <c<11119

FAG1S 11066 < 409+ 22< 11119
11044 11097

<< ——
- 40 40
276+i<q<277+E = q=277
40 40

HGIS: c=40(277)+22=11102 °]
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AIRIRISIT S

Q

mi§as

GHN:{AU neIN 81 ac ZIBG]GSS
E =a"—(a—720)" —(a+ 737)" + (a+ 2027)"
GippIwth E, G G8H 2010
GEMS{RATU nelN

HSAMS RIS

{putiith E, IBAh G811 2010
[LFIE S 2010 = 30 67

MEjUHS

X"=y"=(X=yY)(X""+ XYy +...+y"7)
PAOIS a" - (a—-720)" =[a-(a—720)]q, = 720q,

fiinug, e IN

IS (a+2027) — (a+ 737)" = 1290q,
Eiiny g, <IN

1G] E, = 720q, +1290q, = 30(14q, +43q,)
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gy sy

D'l

iG] E, IGAthGSH 30 7

bl

a"—(a+737)" =[a-(a+737)]qg,=-7379, ; q, € IN
171 b (a+2027)" —(a—720)" = 2747q, ; g, € IN

1G] E, = 2747q, - 737q, = 67(41q, - 11q,)
sigj E, IGAMGEH 67 9

Nt E, TGREnG8H 30 it 81 67 N
[Tt 30 8# 67thNiGSUBHINAM
I1: E IGANGSH 2010 9
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. 2-43+U,
"1+ (W3=-2)U,

ANNSIFU, JHAANSI U, ?
IR R
AANSIHU, JHARNST Uy,

2—J3+U

[ABIS U | = " (1
n n+1 1+(\/§—2)Un ()
(57 tanx=2—/3
[AOS

2tanx 22-+3) 1 m
t 2 = = — =t _
e tan’x 1-(2-+3) /3 alr

T

IHGFIM x= 2~ [NEISE tan—=2-3
et 12 ! 12

My U =tanV. Sgll‘_?;lj U  =tanV

- 63 -



SIRIRISTRBTASSR

¢AGSH (1) MIGASTTESITFIh

tan - +tan V,

tanV = 12 = tan(£ +V.)
1—tan - tan V. 12
12

ANV, = +V, SI1G] (V,)
= 12

TG 5 S ) SHISH IR

i¥d=— SHn U1=tanV1=\E:>V1=E

“ 12 ¢ 3

AN RS

Vn=V1+(n—l)d:E+(n_1)7° _(n+3)m
3 12 12

§GI8: U =tan "I 4

ﬁmm U2010

10 n=2010 I8 | = an(2010+3)m _ . 2013x
2010 12 12

=167+ —
A

2010

IRGIS u =tan?ZE=tan(n—Z)=—tanZ=—1
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i l+(1 f)a
Gi Q‘Imm(a)mﬁjnZUnnﬂS‘lnam

. a ++/2— . a_ ++2-1
" 14 (1— f)a " 1+ (1-+/2)a,,
a ++/2— 5_1
1+(1- f)a
e = a ++2-1
1+(1-+2) —
( )1+(1—ﬁ)an

. _ A, +42-1++2-1-(J2-1)a,
" T 1+ (1-+2)a +(1-+2)a —(1-+/2)’
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QQ

AIRIRISIT S

. _[1-(V2-1)']a, +2(~2-1)
" [1-(V2-1)]+2(1-+2)a,
. _2(v2-1)a,+2(v2-1)
"2 2(W2-1)-2(v2-1)a,
a +1
n+2=1_an
NUIRSAINNSA n+2 1] n+4

RTINS

a

a +1
L +1
a. -+1 1-a

an+4 1 a . 1_a +1
1-a

n

_a, +1+1-a 1

11— a, —a-—l a

n

TNUIRSHIANSHA n+va 1F] n+s
il
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SIRIRISTRBTASSR
IHM8 a,, =a, GIMIHU neIN*
ﬁms:(a)mfgi NgU ﬁmmsgmms

IMAIMOIS a, =a, =a,

U[moLnU kelN
Wi k=251=a4a,,
HGIS: a,, =3

=ad

1

1

wl
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D'l

RIS SI]

Q

M5S0 g

X’ +9x+6
3X* +6X+7

GIBANST f (x)=fofofo...of(X)

(")

IABIHRS By S f(x)_

SRR
BANSY f (x)=fofofo...of(X)
(n)
MAEIANSUS a, = f(x)
| a,=fof(x)=f(a,)
a,=fofof(x)=f(a,)

MYNUSIAJISIIEMS
a =fofofo...of(x)=f(a, )

()

InFIMa,, =f(a,)=

a’+9a +6
3a, +6a +7

- 68 -



3

_ r’'+9r+6
C3r’4+6r+7
3r’+6r’+7r=r’+9r+6

2r +6r’=2r-6=0

N VA Vet

2(r+3)(r-1)(r+1)=0
BISuUfir=-3;r,=1;r,=-1

< o 8 a —r a +3
MOURANSI b = ="
9 ¢ a —-r, a -1
~ a. +3
IHMS b = n
an+1_1
- a’+9a +6
[ananﬂz n2 -
3a +6a +7
an?’+9an+6+
_ b 33 +6a, +7  a +9a +27a +27
T a/+9,+6 _  a’-3a +3a -1
3a’+6a +7
—~ b =(an+3) _b°

n+1 (an _1)3 - ™y
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A0 n=1 1812 b,=b]

A0 n=2 I: b,=b,’=b,’

A n=3 813 b,=b=b7
SUINNAGGIM: n=p § b, =b”
ER SN I NARGIM: n=p+1

al
N

A bp+1=bi3IO
IBHS b, =b’ [EMYMIZULE b =bh,
IS b, =(b,"") =b” fAg

JGIS: b, =b,"

3p-1
p

X* +9X+6
tnalas] b1 :a1+3: 3X32+6X+7
a,-1 X +9x+6
3X* 46X+ 7
X7+ 9x+6+9x" +18x+21

+3

b =

X 4+ 9X+6-3x*—6X—-7

g _x3+9x2+27x+27_(x+3)3
P32 +3x=1 \x-1
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N b =" =a =" HUS#J
a, —1 b,-1 “
bn—(x+3)3:
(x=1)°
IHTE a _ (x+3)" +3(x-1)°

(x+3)" —(x-1)"
(x+3)" +3(x-=1)"

HGIS: f (X)= n :
¢ (x+3)" —(x-1)°
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Bumssho

IBG[HEAYS f(x)=(\@2_1)x+(

A/ GILINMAN{FU xe IR IAHIS
f(2x)=f*(x)-2 ]
J5-1

o/ BANS A:(Zj +(ﬁ2+1] 9

B/ BN SRS U B M f(x)=5 7

SRR
A/ UMM {EU xe IR [HENS
f(2x) = F2(x) =2

IS f(x)= (ﬁz_l) + (ﬁ; 1)

BN S F(2x) = (ﬁz‘lj +(£2+ 1)

A1IviuuEaAIN a°+b°=(a+b)’—2ab

ﬁ+1)x
2
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U bES ab =1
IS f(2) = (x)-2

o/ HANS A=(£2_1) +(

J5+1Y
2

NGNS A=f(8)
NS F(2X) = F2(x) = 2

@2—1+£2+1) CE_ o3

10 x=2 I813 f(4)=1%(2)-2=9-2=7

I f(2)=f2(1)—2=(

I x=4 1912 f(8)=f*(4)-2=7°-2=47

8 8
GIS: A=(@) {ﬁ”) VR

B/ BN PO SUB M £(x) =5
IHTS (@] {ﬁ”) _3

2 2
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2 2 2
B MIIEHIG RUTLEUT t+1=3:>t2—3t+1=0

A=9—4= S:t—ﬁ,t 3+(

i ( 3
mms( ] ]

S1G] x=2 I

_G[mo 3+\F \@—1\_2
2 2 )

BT S (@) {@\_2
2

2 )

[EN b (ﬁ—l)x(ﬁuszl:}(ﬁusz%

S1G] x=-2 °
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AIRIRISIT S

Q

wmAghe

Iﬁ@ljﬁslﬁﬁé f(X)=(2—~/3)" + (2 +~/3)"
A/ GIUIMNM{AU xe IR IHUS
f(3x)=f3(x)-3f(x) ]

3/ BANS A=(2-43)"+(2++3)° 1
B/ BN pUI AU EMI f(0=14
W/GIBIMMM f0>2 (AU xeIR,
SRR

i/ U T £(3x) =13(x) - 3(x)

M a=(2-3) 81 b=(2+3)"
[ATIS ab=(2-+/3)*(2++/3)* =1
MBjuY S a’+b’=(a+b)’-3ab(a+h)

FRONS f(3x)=f3(x)-3f(x) ‘1
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BIRIHIS TN SR

2/ BN A=(2-v3)’+(2+3)°
[AOIS A=1(9)

FABNS f(3x)=f3(x) - 3f(X)

GEENS x=1:(3)=F3(1)— 3f(1)

NS f()=2-V/3+2++/3=4

IROS f(3)=4°-3(4)=64-12=52

Gim:

x=3:f(9) =1(3) - 3f(3) = 52° — 3(52) = 140452
HGIS: A=(2-+3) +(2+v3)" =140452 1
B/ BN S RO U B M £(x) = 14

PRGOS (2+V3) +(2-+/3)* =14

ARNHR SNNTESuEmMISH @+ 3)
A0S

(2++/3) +1=14(2+/3)"
(2++/3)% =142 ++/3)+1=0
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4 t=(2+/3)*>0
t?—14t+1=0 , A'=49-1=48
SIG] t;=7-4V3 ; t,=7+443

-GN t,=7-43=(2-3)2 = (2+3)2
IROIS 2+/3) =(2+/3) 2= x=-2
-Gime t, =7+44/3=(2++/3)?
IRO1S 2+3)=(2+/3)° = x=2
HGIS U MITISURS x =—2;x,=2 ]
W/BIMMMN f0>2 (U xe IR
[AYIS (2-/3)*>0; (2++/3)*>0

MUTEIuMN AM-GM [BHTS
F(x)= (2= 3) + (2+3) 2 2 (2= 3) (2+/3) =2
uG[S f(x)>2 LFIU xelR ]
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sumsgll
[5Gfa,b,c NOGSSARIGHES
GIUmMmh

1 1 1 1

AN

3 3 + 3 3 + 3 3 -
a’+b’+abc b’+c’+abc a’+c’+abc abc

(USA MO1998 )

SRR

Uinmt

1 1 1 < 1

3 3 + 3 3 + 3 3
a>+b°’+abc b’+c’+abc a’+c’+abc abc

T80 S
(a—b)(@ -b*)=a’+b’—-ab(a+b)=>0
U a’+b’ >ab(a+b)

U a’+b’+abc>ab(a+b)+abc=ab(a+b+c)
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Il
1

1 C
< - (1)
a’+b’+abc ab(a+b+c) abc(a+b+c)

pwtfgemiGuams

b’+c’+abc abc(a+b+c¢)

a’+c’+abc abc(a+b+c)
ENyRTgEmn (1), (2) 84 (3)

AN RS

1 1 1 1
<

3 3 + 3 3 + 3 3 -
a’+b’+abc b’+c’+abc a’+c’+abc abc
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BEnHEm
IfGja>1 S x>y>z>1

GIUEE log, (109, () < [Iogaz (ﬂ

SRR

UM log, (X)log, (%) < [Iog 2(5)]
y Ttz i
Gime X>y>z>1
11 X511, Y51, %51
y Z Z
[ENtS a>1 ES0S

Ioga(xj >0, Ioga(x) >0, Ioga(f) >0
y Z Z

MUTEIEMN AM—GM [ETS
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X

N

y
4

.Ioga( )
\Y/

) IR A0S

X y

Z

ol
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tn@J P M Fois «
BOUt Po-a IGAMGSH (x-a)

IS P +a EGAMGRA (x+a)

BrUHGISs axo0 811 2 thGgSiia 9

giﬁs%iﬁnmm P(x) IAIRGISS ?

ST S{ RIS

ASHIANUIE P

I P)—alGRINGEY (x-a)’

S1GjEHN S NUIM Q) YUt fy

P(x)—a=(x-2a)"Q(x) = P(x) = (x—a)*Q(x)+a (1)
IU PO)+alGAMNGENY (x+a)

S1GjHSNUIM Re YT
P(x)+a=(x+a)’R(x) = P(x) = (x+a)’R(x)—a (2)

Qo

-82 -



o,

AIRIRISIT S

mu (1) I5ES

P*(x) = 2(x—a)Q(X) + (x— )’ Q" (X)

U P'(x) = (x-2a)[2Q(x) + (x—2)Q" (x)]

S1Gj P [GAMNGSY x-a 9

my (2) INNS

P'(x) = 2(x + a)R(X) + (X + a)°R'(X)

U P(x) = (x+a)[2R(X) + (x+a)R"(x)]

Szllfa‘j P*(x) IGAMGEHA x+a
NS P'(x) IGAMNMGEH x-a 811 x+a
S1GjHNSGESIGIk Ytk

P'(x) = k(x —a)(x +a) = kx* — ka?

({m: peo M F I8P ()
th U M7 § 014)

FLealyy

3

—ka’x+C

P(X) = [ (kX —ka?)dx =
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P(@)=a §ifl P(-a)=-a

3 3
L bis P(a):k%—ka3+C:—%+C

a 3 3
S1 P(—a)=—k%+ ka3+C=—2l;a +C

r—E+C=a
Imammsipng {3
| 2ka’

T+C=—a

USIOAIN  pUIL{UASISSIATS c=-o0
1)

s ° _ X3 3
I;IIGISQ P(X)——E-FEX v]
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umssb

IRGJAUIET P(x) = (x* - 3x+1)*"
A/ANWESMGARIAGIASHINS
IHEANYSE X IUATNUIM P(x) ]
SAREIANRAMITGHA P(x) 811 x2-5x+6

ﬁ/lﬁﬁj§ﬁm P(X) = Cg + C1X + CoX2 + ... 4 Cogx 22

ARANSY A=cy+Cy+Cy+...4+Cypg
B=C;+C3+C5+...+Cqqg

IR L

A/ASAINSIHHANYSE «

mij P(X) = CO + Clx + C2X2 + ...+ C200X200

PAGIS P'(X) =c; + 2C,X + 3c5X% + ... + 200C,gox
S P''(x) = 2c, + 603X + ... + 200 x 199 x %

15 x=0 812 PO =20, 5 0,= "0
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BITIRIS ﬁTm

H1S P(x) = (x? = 3x+1)1%

IRO1S Pr(x) =100(2x — 3)(x® — 3x + 1)1

81

P (x) = 200(x” - 3x+ 1) +19900(2x - 3)° (x* — 3x+ 1)**”
1§ x = 0= P""(0) = 200 + 19900 x 9 = 179300

IRFID c, = 723 _ gogso
2

HGIS: INUSIUANNYSE 2 & 89650 °]
S/REIANAMITGER P 88 x2—5x+6
MY RO = ax+ b ENASANRS AMISIGHA Px)
811 x2—5x+6

RIS P(x) = (X% =5x+6)Q(X) +ax+b
NI ST M %2 —5x+6=0 BISU Y

X1=2; X2:3

P P(2)=2a+b
RS {P(3)= 3a+b
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RIS SI]

NS P(x) = (x2-3x+1) = P(2)=1; P(3) =1

0 2a+b=1
S1G6] {5707 =a=0,b=1
3a+b=1

HGIS RN asisMilGrir 81
X? —5x + 6 ﬁ R(x)=1
A/ANNSY A=cy+Cy+Cy+...4 Cong

B=C1+C3+C5+...+C199
200

BIS P(X) =+ X+ CoX? + ...+ CogpX
PRGOS P(1)=cy+Cy+Cy+...4+Cypg
§ﬁ P(-1)=cy—Cy+Cy —....+Cyqg
AR RS
P(1)+P(-1)=2(cy+Cy+Cy+.....4+Cypp) = 2A
SSIGJ A_PED+PQ) (e8ss o PO -P(-1)
2 2
P(1)=(1-3+1)'" =1, P(-1)=(1+3+1)'* =5

100 - _ g100
JGIS: A= T2 Ble=tT—
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BEmASHY

IHG] P(x) CNNTIMIYLS 7

IHANt PeoIGASH (x-1) 6]
FIRNAT 2 TS P EGRASH (x-2)
GjEIANIT 3

fi/ GHARTANSISTGEIGH P 81

x°—3x+2 1

2/ IHEUSAM P NN IFFYS
I8 x [HpU P—2)=—1

P(-1)=-7 , P(0)=5 1 GifiSH P(x)

B/ BN SO FUBMI Poo)=x+1 ]

SRR
B/ BSOS ANAGISTHIGH P 88 x2—3x+2
NS Peo IGASH (-1 GJEIANRS 2
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SIGJHSNUIM q,(x) FEiFU
P(x)=(x-1)q,(x)+ 2

P(x) EGASH (x-2) BIATANAY 3
S1GjESNUIE

a,(x) FERU P(x) = (x—2)q,(x) + 3

[ﬁm S {P(X) = (X_l)ql(x) +2
P(x) = (x—2)a,(x)+3

_ {(x— 2)P(x) = (X — 3x + 2)qy (X) + 2x— 4 (1)
(X —=1)P(X) = (X* = 3X + 2)q,(X) + 3x— 3 (2)
Hregami (2) 841 (1) 1B S
P(x) = (x? = 3x+2)q(x)+ x +1
PERU q(x) = 4,00 - 0, (%)

¢ 1A G SNGRIMUWISSUGNAT P
PGASH X2 -3x+ 2G]RS NI R =x+1 ]
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2/ ASHNUIE P(x)

IRH1S P(x) = (x2—3x+2)q(X)+ x +1

LN P thnmBIFAFUSINS
) (REfEthn M § 0 9

31EN ;(x)=ax2+bx+c a#0,a,b,celR
PROIS P(x) = (X% —3x+2)(ax® + bx+¢)+ x+1

NS P-2)=—1 S8 P(<1)=-7 , P(0)=5
(12(4a—2b+c)—-1=-1

[AOIS {7(a-b+c)=-7

2C+1=>5

(4a—2b+c=0

ﬁ.ﬁ:ﬁ:jﬂj la—b+c=-1

c=2

Szlﬁj a=2,b=5,c=2

FUIRTES o P(x) = (X* - 3x+2)(2X° +5X+ 2) + (X +1)
USIGNNHIGHRIAGGUTMSNUM

P(x)=2x*—x*-9x* +5x+5 °]
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B/ BN S[RUMI BUB AT P(x) =x+1
PN LT P(x) = (X% — 3%+ 2)(2X° + 5X + 2) + (X + 1)

PRGOS (X% -3x+2)(2X° +5X+ 2) + X+ 1=x+1

(X% = 3x+ 2)(2x% +5x+ 2) =0
(X=1D(x-2)(x+2)(2x+1)=0

IRGIQUR xe{ -2,-7 1,2} ]
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sumsgl

IRGJAUIET P(x)=ax’ +bx’ +1

a 811 b thiiGgsNatinIGG] 9
GifiSH a IAH]G] Peo [GAING S
x“—3x+1 ]

NI S{RIIS

N

L (7
C

(]

ﬁigea

IAH]G] Poo IGAMGRA X2 -3x+1
IR RSIU RS UB M - 3x+1=0
MURITURTeIEMiP() =0fiii-]

M o 811 p URSTURTSUS M
x> —3x+1=0
mudajuelaIams {

Lan 32'

a+Pf=3
af=1

0o 811 p NURSTURTAIEMI Px) =0
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[N IAT1IS
{P(a)=0:>{aa5+ba3+1=o
P(B)=0 ap®+bp3+1=0
. {aocsﬁ?’ +ba’Bd+B° = 0 (1)
aa’p’ +ba’p®+a’=0 (2)
HRARUTMINISS audp(a?—p2)-(a®=p%)=0

IHGIEN az (@B -0 _9-1_8
=~ aBarp) 33
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I GIAUIE P =x"+bx% +42x+8 I FU
neiN 88 b tAETHUIAG] 7

GifisH n 811 vIH]6] P [GAINGSN

x° —6x+8
HSRMS RIS

RS n 88 b

(AY)

X

14 X°—6X+8=0=>x;=2;X,=4
IH]6B] Peo EGAINGSH 2 -6x+8
egpia {P(Z)ZO

' P(4)=0
" {2”+4b+42(2)+8=0
= 4" +16b+42(4)+8=0

2" +4b =-92 ‘—4 N —4.2"—16b =368 (1)
4" +16b=-176 1 A" +16b=-176 (2)
grasgami (1) 81 (2) ms

J
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A" 42" -192=0

M t=2">0 IFHMS
t°—4t-192=0 ,A'=4+192=196
I AIMUg

t;=2+14=16; t,=1-14=-12<0(BSIM)

GIM. t=16=2"=16 U n=4

o a9 _ o4
MUEIEMT 2" +4b= 92 = b= 924 2 _ o7

Q’GISZ n=4:b=-27 1
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imsslg
IHHISHSAY SIS ¢ ASHNLAIAN IN
mﬁfmh IR BN S £(0)=0

GIASHIA f(n) ?
R

(XY

ASHIA f(n)

IGAHNSINNISH > 1AM S
1
i f()= 2n+2 (1)

[AB1S
2tana
1-tan®a
3 2tana 3 2
 tanacota—tan’a cota-tana

- 11:(n)+—tan

tan2a =
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A F1(1) tana=cota—2cot2a
PINUILST a=

2n+2

o T T
IR tanﬁ = cotﬁ— 2 cot el (2)

Wi (2) GAIRR (1) IS

1 T 1 T
2—f(n+1)——2 f(n)—z—n 2n+2_2n1C0t2n+1

T 1 T

kgo[ fk+ D=5 f(k)]—z[ 00ti6i = 1Ot ]

1 1
- 2f(0)——cot2n+1

¥

= f(n) = cot 2n+1
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g/yn6_2yn3+2
3 Y,
:> 6 3
Yo y =2y " +2
= y:+1_1= Y L= 2(yn _1)
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SIRIRISTRBTASSR
MAEIANSUS 7, =y, -1
58 7, - Zjnl H1S B MRS
Z, +
_ 2r
r’+1

POBYIU rr-1)(r+1)=0=r=0, rp,=1,r;=-1
MR EE g ¢, =20

z,+1
22,

;1 2
IHOS tn+1=zn+l—1_1+zn =_(zn—1)
1

Znyp +1 22r12+

1+2z,

thi1 = _tn2 mh u, =-t,

OIS - Uns1 = _(_un)2 t_—l Uny1 = un2
= In(uy,1) = 2In(uy)

IHAIM { In(u,) } NEYABIANTI{FEN S
NOUIG)UiE 2 9
IHTS In(u,) = 2" In(Ug) = U, = g2’

NS u, =-t,
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[ﬁ tOZZO 1_(y03 1) 1 ? _l
Zo+1 (y,°-1)+1 3 3
2
1) 1
[ﬁmmtnz—(—) __ 1
-~ 3 32”
1 1+t. 32 —1
NS ¢, =" _itlh S -

2"
nly zn=yn3—1:>yn=4/1+zn=3\/1+3 L

32n+1
2n
HGISS y, =g 23 “
J 2n
1+ 3
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BENESMo

B acIR 0O<a<1 T f
NHSHUSMUIT [0;1] LD
f(0)=0; f(1)=1 8H
f(C7 )= (1-a)f(x)+af(y)
SINS{REU x;ye[0,1] 88 x<y
GIfSH f(%) ?
(IMO Longlist 1989)

Zeo

ST S{FOI

ASh f(l)

IHNS f(X”) (1-a)f(x)+af(y) (1)
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W x=0;y = GAIGH (1) TAMS
2

f(2) = (-2 (0)+af )
2. 1,1 .

WD £()= 1) (HM: F(©)=0)
WA x=;y=1 §AIGH (1) IREIS

4 1 1
f(?)z(1—a)f(?)+af(1)=(1—a)f(?)+a
WA x=2;y=" GAIGH (1) IRCS

3 2 4
fO)=-a) () +af ()

3 1.1 1
f(?) =(1- a)(af (?)) + a{(l —a)f (?) + a:l

f(g):[lea+a(1—a)]f(%)+a2
_(-a)a+a’),

d
W x=0;y =1 §EIGH (1) IHDS £() =2

C)+a
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()= (1-a)f ) +af()

a:(l—a)[(l a)(1+a)f(1)+a}+a[(1—a)f(;)+a}

a

— (1—a)2a(1+a2)f(_)+a -a’ +a(1—a)f(1)+a2

(1-a)’(1+a*)+a*(1—a)
a
(1-a)[1-a)(1+a’)+a’]

a’-2a’+a=

f()

1:()

B a‘(l-a) _a(l-a)
:f(?)_(l—a)(1+a2)+a2_1—a+2a2—a3

poigs )= 278 4
v 77 l1—-a+2a" —a

a(l-a)’ =
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wimagmb
infja, b ,c migdlymaidwab+bc+ca=3
BIUNE
1 1 1 1
<

+ + <
1+a’(b+c) 1+b’(c+a) 1+c’(a+b) abc

HSRMS RIS

UingM
1 1 1 1
+ + <
1+a’(b+c) 1+b*(c+a) 1+c*(a+b) abc

METIEMO AM—GM 168 :

1=ab+gc+ca2§/(abc)2 U abc<1

IH8

1 1 1 1
1+a’(b+c) 1l+a(ab+ac) 1+a(3-bc) 3a+(1-abc)
e abc<l Ul-abc>0 8~ <> (1

N l1+a°(b+c) 3a
21 1 2) 21 oy
1+b°(c+a) 3b 1+c“(a+b) 3c

BEEIET (3)
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smisfIisAs

D'l

URIIHMN (1) ; (2) 84 (3) 1HMS
1 1 1 <1 1 1 ab+bc+ca

+ +
1+a%(b+c) 1+b%(c+a) 1l+c’(a+b) 3a 3b 3¢ 3ahc

TRt ab+bc+ca=3
1 1 1 1
2 + 2 + 2 <
1+a°(b+c) 1+b°(c+a) 1+c°(a+b) abc

H1as
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IHUIT A, B,.c NEUIS{AIMAN AsC

MNHSAYS yocotas  25NA
! cosA+cos(B-C)

innlgHUjItISHSAYSIS: 2
5T SR
AlgHUINISHEAYS

2SIin A
cosA+cos(B-C)

[AB1IS A+B+C=n

y =CotA+

FS12 cosA =cos(n—B-C)=—-cos(B + C)

IRG1S
2SIN A
cos(B —C)—cos(B + C)
SinA
sinBsinC

_ cosAsinBsinC+sin® A
sin AsinBsinC

y =CotA+

=COtA +
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nﬂﬂnﬁ ﬁfm

1fi a,b,c N{RNIUAG{RIMANIS:

Mu{FgUG SRS
. (a=2RsinA
. .b - _9R ST@J<b=2RsinB (1)
sinA sinB sIinC _
[C=2RsInC
Mu{F U gHAISIUIATNS
a®=b”+c®—2bccosA (2)
WHREAESH () Jeund (2 IAMS
4R25in2A=4R2(Sin2B+sin2Cl—23inBsinCcosA)
sin®B +sin®C —sin® A
2
INHIS HSAYS y MG UIIEUT
sin® A +sin®B +sin®C
2sin AsinBsinB
MUIUYMN AM-GM [AHS

sin° A+sin“B+sin“C>3 {Q’/(sin AsinBsin C)?

A A m sinBsinCcos A =
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RIS SI]

3§/(Sin AsinBsin C)?
2sin AsinBsinC

=y

33 1
=>VY2— - - -
2 VsInAsInBsInC

mﬁﬁﬁﬁﬁé f(x) =sinx TEU 0<x<n
FABIS " (x)=-sinx<0, Vxe(0;n)
1G] f(0 NHSABSIGIN

MU{FEIUS densen IHTS
f(A)+f(§)+f(C)Sf(A+§+c)
) sinA+sinB+sinC<Sin(A+B+C)_§
= 3 B 3 2
My IFUEMN AM-GM [HH1S

SINA+sINB+sinC > g/sin AsinBsinC

3
A1 Isin AsinBsinC < ﬁ
2

33

U sin AsinBsinC < e

NEISy> S \/ N
2 -2

sin AsinBsinC

Tﬁ
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NS y=cotA+ 2sin A >3
cosA+cos(B-C)

HGIS HIgHUIvISHSAUSH V3 9
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sumagme

AR{AIMAN Asc Y SIHHNSIS{H
ae B Ac ANE 7 |
GIUIN MBI cot+eotc>s 1

(CMO 1993 )

IR

Utﬂmt'n cotB+cotC2g
n 3
A
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AD . BE,CF [UNUIENY
S{RIMAN Asc
GF=y IR A0S

Ee
F
c
p-
=
"
o=yt Z/D

BG=2GE=2x Sl CG=2GF=2y

IS

cotB = cot(£LGBA+ ZGBC)

_ cot(£LGBA).cot(£GBC) -1
cot(£LGBA)+ cot(£GBC)

2X [ 2X
SIB) ey
Ly J\ 2y _2X" -y

- 2X 2X 3xy

+
y 2y

b 2,2
HOMIET cotc=2 =X
J (=3 3xy

2 2 2 2 2 2

[ﬁmS cotB+cotC=2X y +2y X _X+y

3xy 3Xxy 3xy

METEUEMN AM-GM &N S

2 2 2 2
X + X+ 2
y> = y>—

2 3Xy 3

QG[S: cotB+cotC2§ |
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Q | o
SEEHSME
[5G] a;b;c thiGSSAATRMS

2
l’jﬁjmmfﬂ a’ +1 b +1+c +1 513

b+ c c+a a+b
(Regional Mathematical Olympiad-India 2006)

IR RN

2
tﬁ:nmm a’ +1 b +1 c? +1 513
b+c c+a a+b

MUTEUEMN AM—GM LHUIS a2+1>2a

2

15 G1 M a +12 2a

~ b+c b+c

> 2 - 2
S o ing b +12 2b & 1 C +12 2C
v < c+a Cc+a a+b a+b
a’+1 b?+1 c¢*+1 2a 2b 2¢C

+ + > + +

b+c c+a a+b b+c c+a a+b
[AD1S
2a 2b 2c 22’ 2b? 2’

+ + = + +
b+c c+a a+b a(b+c) b(c+a) c(a+Db)
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MuT eIy N Cauchy-Schwartz I5 T S

a’ b? c* , (a+b+ c)?
a(b+ c) b(c+ a) c(a+b) 2(ab+bc+ca)
2a° 2b* 2c° (a+b+c)°

S ab+o) "bcra) Tc@+rb) " ab+botca

2 2 2 2 2 2
s 2 ;b +b ;C + & ;a >ab+bc+ca

U a®+b’+c®>ab+bc+ca
fﬁﬁi—ig‘:ﬁhﬁiéh 2ab + 2bc + 2ca
IS (a+b+c)*>3(ab+bc+ca)

o 2
S1I§J (a+b+c) >3
ab +bc+ca
2 2
[“G“Im 2a° 2b 2C >3

a(b+c) b(c+a) c(a+Db)

2
agpge &L, DI+l L
v b+c c¢c+a a+b
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PISAMAUIM X" +a,_ X" +...+ax+a,
i—ﬂl’jt’ﬂﬁmﬁ“‘l (X+1)(X+1,)...(X+T.)
fLeur,r,,...r, mrjssnn “]
GIUIN™ (n-1)a;_, >2na,_, I

(Costa Rican Math Olympiad 2009)
()
NI S{ RIS
UMMM (n-1a, , >2na,_,

[T S i(ri)z n+r+..+r,=a,,
i=1

8 Y (rr)=a,, NAWMS

> (r.—r.) =(n- 1)[Z(r)T—2n Y (rr)=0

1<ik <1 I<i<j<n

IHFIM (n-1)a; , -2na, , >0

uG[So(n a’_, >2na_, I

n-1 =
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Q

unsEmel

18 x 8§11 y thiiGgsinigmsiiin
tgi‘]hgpﬁ 1+ x)1+y)=2

1

GIUINE® wy+ . 26

(Costa Rican Math Olympiad 2009)
(M)
NI S{RIIUS

vnmm xy+i26
Xy

[AB1S

1+x)(1+y)=2

1+ X+y+Xy=2
X+y=1-Xxy

MUl im0 AM-GM

IHHS x+y=2yxy
I 1—xy > 2\/xy < (1-xy)? > 4xy
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D'l

PUBY U 1-2xy + (xy)® = 4xy

U 1+ (xy)* = 6xy
NG AHD SINI8H Xy

IBNS xy+ 126
Xy
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(/]
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SBONHSME
IS0
REy

SSABIES ab,c 7
a3

3 3
b +% >atb+c 4
bc ca ab

em
<

zeo

31T S SIS
MU uEmMN AM-GM BT S

a’ a’
—+b+c>3J".b.c=3a (1)
bc bc

3 3
lg—+c+a>3,/9—ca 3b (2)
ca ca

c? c?
~——+a+b>37--.ab=3c (3)
ab ab

grAieusmn (1), (2) 811 (3)
HYSHHDIAMS

a> b ¢°
+—+—+2(@+b+c)>3(a+b+c)
bc ca ab
3 3 3
uGISQa o +C >a+b+c 1
bc ca ab
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GIERNE
NS (x,) ASHINT x, =x, =1 84
GUNAY n> 119818 x,, =™ 1

n-1

10U k GSSAB 8 k=2 9
GUINDS (x,) Megstgsi 2
IR RN

URIDB) (x,) BTRISEgSAR

X +1
X

n-1

B8 x, =x, =1 8% x, =

BIMS x, =% o2 MESenn

X

0

X = XX” +1 NG SH

1

U X, , X, , ... x_,.x, UGENGESS
A 9 R SHpENWS x, EgSRHiN
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X +1 = X +1
S x =" St} x ="t
Xn—l Xn—2
K K
(an + 1) 1
X
iHMS x =~ o
Xn—l
K
(xE, +1)" + X<,
Xn+1 k
Xn—l 'Xn—2

k

X, +1
N x =" "= x +1=xX__,
X

n—

U (XK, +1) + x5, =x %5, +x5, IGHNGEYN
x<_, 1
nigliy, X, +1=1 (mod x__,)

112 (X, +1) +x,=1+x, (modx,_,)
1+x!
X

TN 1+ x*, =

-2 .
'Xn—3 - Xn—lxn—3
n-3

I 1+x,=0 (mod x__,) 1

FITHINUMNTIS UEMARX,, NGSSHE

n+1
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Bumsgeo

IBWAGSE K; L; M ifagusiig
{5 BC;CA; AB 1
g%ugwmmuhhﬁﬁmsgm’fsﬁtmnn
AML, BKM CLK #18I§{figngsthi

iad = islgpangfiman ABC -

4
(IMO 1966)
SRR A
MBI M \
L
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D'l

MR s, ;s, ;s, iﬂﬁ@m"i’giﬁgﬁiﬁﬁh
{RIMANAML, BKM CLK §# S thi
{AgNIvsS{RtMAN ABC

1 Sl=;AM.ALsinA

guumIm Sl>4S nglsi] <

S= ;AB.ACsinA

1 AN S %AI\/I.ALsinA > %AB.ACsinA

4AM.AL > AB.AC

4AM.AL > (AM + ML)(AL + LC)

4AM.AL > AM.AL + AM.LC + ML.AL + ML.LC
3AM.AL > AM.LC + ML.AL + ML.LC

LC ML AM.AL
> + +
AL AM ML.LC

m{j X=%;y=%;z=ﬂ
CK AL BM
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AIRIRISIT S

191N S 3>y+%+% (1)

2UHIMN S, >%S§h S, >%S [T LS U LS

HOMIHIHMS 3> x+ L.X (2)

= y y

81 3>z4142 (3)
X X

YRIEIEMAN (1), (2) &(3) IAS

9>(x+y+z)+( +1+ =)+ (— XYyl )
y 2 Yy ¢

MUTEIUMN AM —GM 5N S

(x+y+z)+(1+1+i)+( A )>9

y y Z
WIS MIgUNNLBLNE
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AIRIRISIT S

GIS: UNNAGH SYWIS{RImMAN
AML, BKM CLK #18I§{figngsmmi

iad = islgpangfiman ABC -

N

) U R et 50% WY
/

Tel : 017 768 246
Email: lim phalkun@ymail.com
www.mathtoday.wordpress.com
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RIS SI]

o / &
SUUNAHRIHS
o
ARG AC <1 Giuiimnn ABC
U8 ZABC = 90° SHILHNS BM
GUME BM? = ABAC 9 (IMO 1959)

o/ GifishpUGgSsigighibiming

N IGRNGEY 3 it %iﬁjéﬂﬁﬂji;ﬁmﬁ
{Siugithuuesh (IMO 1960)
3/ SURRIMAN ABC ,BJIUTMAC=bAB=C
SUBfUGLAMB = o 15U MIGSGRM
iS BC 9
GILNMRUANRM G S InSHtSiE

btan%é c<b (IMO1961)
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AIRIRISTRT S5

4/i5B] ABC PIMANANRTEY A Wiwns
fifES AD 11996 0, 81 o, GRYNE
ARRIMAN ABD 811 ACD 9 UIH(0,0,)
MBI AB B8 Ac SR K 84 L4
i s, 811 s, MPTGNIRRIMAN ABC

34 AKL M 4

GIANWUEMAR S, > 28, 2

5/ THG[OGSGERIM A, B, CiSTiiini (K)
GIURSSG D st i (K)uhwdhm
GHIMAN ABCD HIBEISHCIAGA

(IMO1962)

6/ GIUN M cos.——cos,2—+cos3—7t 1
! !/ { 2

(IMO1963)
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RIS SI]

7/ B-GIHSHREUGSSANHYME n EhwEH
2" —1 IBANGEH 7
S-GIUNMSMSGSSHGHUHNE n M
WU 2" +1 IGANGEN 7
(IMO1964)
8/ RIIMAN OAB YINSY ZAOB MBI
M SGEANGISTIG AB 4 P 81 Q mifikise
Ginmainif M 191l oA 81 oBIMm
BHMGINGIGH HHIGURHIMANOPQ?
ASHUNNGSE HID MIUTURIYAOAB 2
 (IMO1965)

9/U€,T|mmiﬁ BC+AC=(BCtanA + ACtan B)tang

191: ABC RHIMANGBME 9 (IMO1966)
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10/ {UIUG]{ME ABCD tS AB=a, AD=1
H ZBAD _ ¢ TUILRIMAN ABD H18591
HEUMBEG

HINMBRHMSAIN 1 SHNSHH A,B,C
81 D RURANOUIg MBSt
a<cose++/3sing ?u (IMO 1967 )
11A06] f MHSHuSISYNGASARUGSS
iE , EhwSt Gin:HEs a> 0 1HNS

f(x+a)=%+¢f(x)—f2(x) GiNe{REs x

GIUIMME) f MHSHBSZU JGE]ZNUNINN

YENWEhm f hxshusSesiGim: a=1
(IMO 1968)
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AIRIRISIT S

12/ C hGSoYunSHiibng NG AB

it A 881 B 41 D thigadinmeuinii c

191l AB 9 BN(K,) GURERHIIMANABC

M (K,)U:8 CcD ; DA §'ﬁﬁ§:i§ﬁ 4

M (K,)U:80 CD ; DB SUrigsii

GINMSI (K,) ,(K,),(K,) BISUET:Y

yUunRiiAB (IMO 1969 )
13/ fRIEEMHS ABCD 818 ZBDC = 90°

WAwRsietnmeuinad b 1gHOUA(ABC)

RINHIGEURIS{RIMAN ABC

N

(AB+BC + CA)* < 6(AD” + BD? + CD?)

ifinfuamiuIihmsusmn 2

(IMO 1970)

- 128 -



) oé a

55359

o<h
=
N
=
=
N

UIANH 9 GIN{RU x 811 y 16
F(x+y)+f(x—y)=2f(x)g(y) 7
f §SHIGAISISN f(x)[<1

UM [g(x) <1 GEM{ay x 9
o (IMO 1972)

15/GIUINMMtSGESG D Y[R AB
IS{fitman ABC tintsidlisth CD m'ﬁrsjﬁ
GINE{HINHD AD 811 DB nys{minsi
#Sin sinAsinBSsinZ% 9 (IMO 1974)

16/ASH{AUGSSNH a INH]GjNSGSSNA
HSHIGWIS X,,X,,X,, X,, X, Ig‘i:lﬁg‘lﬁ

(X, +2X, + 3%, +4x, + 5%, =a

X, +2°X, + 3%, +4°x,+5°x, =a’ (IMO1979)

X, +2°X,+ 33X, +4°X,+5°x, =a’
\
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SRS Im s R

LC_q{c]

17/ GUN:{AUGSSARBSHIGWIS X &Y
Hgaws f(X,y) mama
(f(0,y)=y+1
f(x+1,0)=f(x,1)
f(x+1,y+1)=f[x,f(x+1y)]
GIfSH f(4,1981) ? (IMO1981)
18/ fisngywistgsanigms a, b
ntisdiith ab(a+b) ioAdsinGsn 7
ifs (a+b)' —a’' —b' igAinGia 77 9

(IMO 1984)

19/ A circle has center on the side AB of the cyclic

guadrilateral ABCD. The other three sides are
tangent to the circle. Prove that AD + BC = AB.
(IMO 1985)

20/ In an acute-angled triangle ABC the interior

v, -

(3]

bisector of angle A meets BC at L and meets the
circumcircle of ABC again at N. From L
perpendiculars are drawn to AB and AC, with feet K
and M respectively. Prove that the quadrilateral
AKNM and the triangle ABC have equal areas.
(IMO 1987)
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